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HEESA 10.09.02
F3s= 1+B | 1++4B | 1+4B | 1++B | 1+4C | 1+4C | 1++C | 1+4C
FEN=(kg/d) 10.00 | 10.00 | 9.00 | 9.00 | 9.00 | 8.00 | 8.00 | 8.00
ANz (kg/2) 2.00 | 2.00 | 1.00 | 1.00 | 1.00 | 1.00 | 1.00 | 1.00
A58 2(%) 3.26 | 96.17 | 98.09 |100.00| 77.08 | 73.98 | 70.88 | 67.78
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HRE 10.09.02
7358 1A 1A 1B 1B 1B 1+B 1+B | 1+B
S¥NE(kg/2) 10.00 (10.00 | 9.00 | 9.00 | 9.00 § 9.00 | 9.00 | 9.00
NS (kg/2) 200 | 200 | 1.00 | 1.00 | 1.00 § 1.00 |} 1.00 | 1.00
A5+A&(%) 1.36 | 2.72 |-25.03 |-27.69| -0.03 | 100.00 | 93.12 | 86.24
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